# Common Fixed Points of Two Nonself Asymptotically Nonexpansive Mapping by a Simpler Iterative Process

Mujahid Abbas, Safeer Hussain Khan, Shin Min Kang

#### Abstract

In this paper, we use a new one-step iterative process to approximate the common fixed points of two nonself asymptotically nonexpansive mappings through some weak and strong convergence theorems.

# 1 Introduction

Throughout this paper  $\mathbb{N}$  denotes the set of all positive integers. Let E be a real Banach space and C a nonempty subset of E. A subset C of E is called a retract of E if there exists a continuous map  $P: E \to C$  such that Px = xfor all  $x \in C$ . Every closed convex subset of a uniformly convex Banach space is a retract. A map  $P: E \to E$  is said to be a retraction if  $P^2 = P$ . It follows that if P is a retraction, then Py = y for all y in the range of P.

Chidume et al. [2] defined nonself asymptotically nonexpansive mappings as follows: Let  $P: E \to C$  be a nonexpansive retraction of E into C. A nonself mapping  $T: C \to E$  is called asymptotically nonexpansive if for a sequence  $\{k_n\} \subset [1,\infty)$  with  $\lim_{n\to\infty} k_n = 1$ , we have  $||T(PT)^{n-1}x - T(PT)^{n-1}y|| \le k_n ||x-y||$  for all  $x, y \in C$  and  $n \in \mathbb{N}$ . Also T is called uniformly k-Lipschitzian if for some k > 0,  $||T(PT)^{n-1}x - T(PT)^{n-1}y|| \le k ||x-y||$  for all  $n \in \mathbb{N}$  and  $x, y \in C$ . Note that every asymptotically nonexpansive mapping is uniformly k-Lipschitzian.

A point  $x \in C$  is a fixed point of T provided Tx = x.

Mathematics Subject Classification: 47H09, 47H10, 49M05



Key Words: one-step iterative process, nonself asymptotically nonexpansive mapping, common fixed point, condition  $(\tilde{A})$ , weak and strong convergence

To approximate the common fixed points of two mappings, the following Ishikawa type two-steps iterative process is widely used (see, for example [5], [8], [11] and references cited therein):

$$\begin{cases} x_1 = x \in C, \\ x_{n+1} = (1 - a_n)x_n + a_n S^n y_n, \\ y_n = (1 - b_n)x_n + b_n T^n x_n, \quad n \in \mathbb{N}, \end{cases}$$
(1.1)

where  $\{a_n\}$  and  $\{b_n\}$  are in [0,1] satisfying certain conditions. Note that approximating fixed points of two mappings has a direct link with the minimization problem, see for example [10].

Recently, Abbas et al. [1] introduced a new one-step iterative process to compute the common fixed points of two asymptotically nonexpansive mappings. Following is the modification of their process to the case of two nonself asymptotically nonexpansive mappings. Let E be a normed space and C its nonempty closed convex subset. Let  $S, T : C \to E$  be nonself asymptotically nonexpansive mappings and  $P : E \to C$  a nonexpansive retraction of E into C. We define  $\{x_n\}$  in C as

$$\begin{cases} x_1 = x \in C, \\ x_{n+1} = P\left(a_n S(PS)^{n-1} x_n + (1-a_n)T(PT)^{n-1} x_n\right), & n \in \mathbb{N}, \end{cases}$$
(1.2)

where  $\{a_n\}$  is in [0, 1] satisfying certain conditions.

In this paper, we will use this process to prove some weak and strong convergence theorems for approximating common fixed points of two nonself asymptotically nonexpansive mappings.

Let us recall the following definitions.

A Banach space E is said to satisfy Opial's condition [6] if for any sequence  $\{x_n\}$  in  $E, x_n \rightarrow x$  implies that  $\limsup_{n \rightarrow \infty} ||x_n - x|| < \limsup_{n \rightarrow \infty} ||x_n - y||$  for all  $y \in E$  with  $y \neq x$ . Examples of Banach spaces satisfying this condition are Hilbert spaces and all spaces  $l^p(1 where as <math>L^p[0, 2\pi]$  with  $1 fail to satisfy Opial's condition. A mapping <math>T : C \rightarrow E$  is called demiclosed with respect to  $y \in E$  if for each sequence  $\{x_n\}$  in C and each  $x \in E, x_n \rightarrow x$  and  $Tx_n \rightarrow y$  imply that  $x \in C$  and Tx = y.

A Banach space E is said to satisfy the Kadec Klee property if for every sequence  $\{x_n\}$  in E converging weakly to x together with  $||x_n||$  converging strongly to ||x|| imply  $\{x_n\}$  converges strongly to x. Uniformly convex Banach spaces and Banach spaces of finite dimension are some of the examples of reflexive Banach spaces which satisfy the Kadec Klee property.

Next, we state the following useful lemmas.

**Lemma 1.1.** ([7]) Let  $\{\delta_n\}, \{\beta_n\}$  and  $\{\gamma_n\}$  be three sequences of nonnegative numbers such that

$$\beta_n \ge 1$$
 and  $\delta_{n+1} \le \beta_n \delta_n + \gamma_n$  for all  $n \in \mathbb{N}$ .

If  $\sum_{n=1}^{\infty} \gamma_n < \infty$  and  $\sum_{n=1}^{\infty} (\beta_n - 1) < \infty$ , then  $\lim_{n \to \infty} \delta_n$  exists.

**Lemma 1.2.** ([9]) Suppose that E is a uniformly convex Banach space and 0 for all positive integers <math>n. Also suppose that  $\{x_n\}$  and  $\{y_n\}$  are two sequences of E such that  $\limsup_{n\to\infty} ||x_n|| \leq r$ ,  $\limsup_{n\to\infty} ||y_n|| \leq r$  and  $\lim_{n\to\infty} ||t_nx_n + (1-t_n)y_n|| = r$  hold for some  $r \geq 0$ . Then  $\lim_{n\to\infty} ||x_n - y_n|| = 0$ .

**Lemma 1.3.** ([2]) Let E be a uniformly convex Banach space and C be a nonempty closed convex subset of E. Let  $T : C \to E$  be a nonself asymptotically nonexpansive mapping with a sequence  $\{k_n\} \subset [1,\infty)$  and  $k_n \to 1$  as  $n \to \infty$ . Then I - T is demiclosed at zero.

**Lemma 1.4.** ([3]) Let C be a convex subset of a uniformly convex Banach space. Then there is a strictly increasing and continuous convex function  $g : [0, \infty) \to [0, \infty)$  with g(0) = 0 such that for every Lipschitzian map  $U: C \to C$  with Lipschitz constant  $L \ge 1$ , the following inequality holds:

$$||U(tx + (1-t)y) - (tUx + (1-t)Uy|| \le Lg^{-1}(||x-y|| - L^{-1}||Ux - Uy||)$$

for all  $x, y \in C$  and  $t \in [0, 1]$ .

Let  $\omega_w(\{x_n\})$  denote the set of all weak subsequential limits of a bounded sequence  $\{x_n\}$  in E. Then the following is actually Lemma 3.2 of Falset et al. [3]

**Lemma 1.5.** Let *E* be a uniformly convex Banach space such that its dual  $E^*$  satisfies the Kadec Klee property. Assume that  $\{x_n\}$  is a bounded sequence such that  $\lim_{n\to\infty} ||tx_n + (1-t)p_1 - p_2||$  exists for all  $t \in [0,1]$  and  $p_1, p_2 \in \omega_w(\{x_n\})$ . Then  $\omega_w(\{x_n\})$  is singleton.

# 2 Some Preparatory Lemmas

In the sequel, we will write  $F = F(S) \cap F(T)$  for the set of all common fixed points of the mappings S and T. If S and T are nonself asymptotically nonexpansive mappings with sequences  $\{s_n\}, \{t_n\} \subset [1, \infty)$  with  $\sum_{n=1}^{\infty} (s_n - 1) < \infty$  and  $\sum_{n=1}^{\infty} (t_n - 1) < \infty$ , then putting  $k_n = \max\{s_n, t_n\}$ , we have  $\{k_n\} \subset [1, \infty)$  with  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$ . Thus in the sequel, we take the same sequence  $\{k_n\} \subset [1, \infty)$  with  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$  for both the mappings S and T. **Lemma 2.1.** Let *E* be a normed space and *C* its nonempty closed convex subset. Let  $S, T : C \to E$  be nonself asymptotically nonexpansive mappings satisfying  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$ . Let  $\{x_n\}$  be the sequence as defined in (1.2) where  $\{a_n\}$  is a sequence in  $[\delta, 1 - \delta]$  for some  $\delta \in (0, 1)$ . If  $F \neq \emptyset$ , then  $\lim_{n\to\infty} ||x_n - x^*||$  exists for all  $x^* \in F$ .

*Proof.* Let  $x^* \in F$ . Then

$$\begin{aligned} \|x_{n+1} - x^*\| \\ &= \|P\left(a_n S(PS)^{n-1} x_n + (1-a_n)T(PT)^{n-1} x_n\right) - Px^*\| \\ &\leq \|a_n S(PS)^{n-1} x_n + (1-a_n)T(PT)^{n-1} x_n - x^*\| \\ &= \|a_n \left(S(PS)^{n-1} x_n - x^*\right) + (1-a_n)(T(PT)^{n-1} x_n - x^*)\| \\ &\leq a_n \|S(PS)^{n-1} x_n - x^*\| + (1-a_n) \|(T(PT)^{n-1} x_n - x^*)\| \\ &\leq a_n k_n \|x_n - x^*\| + (1-a_n) k_n \|x_n - x^*\| \\ &= k_n \|x_n - x^*\|. \end{aligned}$$

Thus, by Lemma 1.1,  $\lim_{n\to\infty} ||x_n - x^*||$  exists for each  $x^* \in F$ .

**Lemma 2.2.** Let *E* be a uniformly convex Banach space and *C* its nonempty closed convex subset. Let  $S, T : C \to E$  be nonself asymptotically nonexpansive mappings satisfying  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$ . Let  $\{x_n\}$  be the sequence as defined in (1.2) satisfying  $||x_n - S(PS)^{n-1}x_n|| \le ||S(PS)^{n-1}x_n - T(PT)^{n-1}x_n||$  for all  $n \in \mathbb{N}$  and  $\{a_n\}$  a sequence in  $[\delta, 1 - \delta]$  for some  $\delta \in (0, 1)$ . If  $F \neq \emptyset$ , then  $\lim_{n\to\infty} ||Sx_n - x_n|| = 0 = \lim_{n\to\infty} ||Tx_n - x_n||$ .

*Proof.* By Lemma 2.1,  $\lim_{n\to\infty} ||x_n - x^*||$  exists. Suppose  $\lim_{n\to\infty} ||x_n - x^*|| = c$  for some  $c \ge 0$ . Then  $||S(PS)^{n-1}x_n - x^*|| \le k_n ||x_n - x^*||$  implies that

$$\limsup_{n \to \infty} \left\| S(PS)^{n-1} x_n - x^* \right\| \le c.$$

Similarly,

$$\limsup_{n \to \infty} \left\| T(PT)^{n-1} x_n - x^* \right\| \le c.$$

Further,  $\lim_{n\to\infty} ||x_{n+1} - x^*|| = c$  gives that

$$c = \lim_{n \to \infty} \|x_{n+1} - x^*\|$$
  

$$= \lim_{n \to \infty} \|P((1 - \alpha_n)T(PT)^{n-1}x_n + \alpha_nS(PS)^{n-1}x_n) - Px^*\|$$
  

$$\leq \lim_{n \to \infty} \|(1 - \alpha_n)(T(PT)^{n-1}x_n - x^*) + \alpha_n(S(PS)^{n-1}x_n - x^*)\|$$
  

$$\leq \lim_{n \to \infty} \left[ (1 - \alpha_n) \|\lim_{n \to \infty} \sup (T(PT)^{n-1}x_n - x^*) \|$$
  

$$+ \alpha_n \|\lim_{n \to \infty} \sup (S(PS)^{n-1}x_n - x^*) \|$$
  

$$= \lim_{n \to \infty} \left[ (1 - \alpha_n)c + \alpha_nc \right]$$
  

$$= c$$

so that

$$\lim_{n \to \infty} \| (1 - \alpha_n) \left( T(PT)^{n-1} x_n - x^* \right) + \alpha_n \left( S(PS)^{n-1} x_n - x^* \right) \| = c. \quad (2.1)$$

Applying Lemma 1.2, we obtain

$$\lim_{n \to \infty} \left\| S(PS)^{n-1} x_n - T(PT)^{n-1} x_n \right\| = 0.$$
 (2.2)

But then by the condition

$$||x_n - S(PS)^{n-1}x_n|| \le ||S(PS)^{n-1}x_n - T(PT)^{n-1}x_n||,$$

we get

$$\limsup_{n \to \infty} \|x_n - S(PS)^{n-1}x_n\| \le 0.$$

That is,

$$\lim_{n \to \infty} \|x_n - S(PS)^{n-1}x_n\| = 0.$$
(2.3)

Then

$$\begin{aligned} \|x_n - T(PT)^{n-1}x_n\| \\ \le \|x_n - S(PS)^{n-1}x_n\| + \|S(PS)^{n-1}x_n - T(PT)^{n-1}x_n\| \end{aligned}$$

implies that

$$\lim_{n \to \infty} \|x_n - T(PT)^{n-1}x_n\| = 0.$$
(2.4)

Now,

$$\begin{aligned} \|x_{n+1} - x_n\| \\ &= \left\| P\left( (1 - \alpha_n) T(PT)^{n-1} x_n + \alpha_n S(PS)^{n-1} x_n \right) - P x_n \right\| \\ &\leq \left\| (1 - \alpha_n) T(PT)^{n-1} x_n + \alpha_n S(PS)^{n-1} x_n - x_n \right\| \\ &\leq (1 - \alpha_n) \left\| T(PT)^{n-1} x_n - x_n \right\| + \alpha_n \left\| S(PS)^{n-1} x_n - x_n \right\| \end{aligned}$$

so that

$$\lim_{n \to \infty} \|x_{n+1} - x_n\| = 0. \tag{2.5}$$

Then

$$||x_{n+1} - T(PT)^{n-1}x_n|| \le ||x_{n+1} - x_n|| + ||x_n - T(PT)^{n-1}x_n||$$

implies by (2.4) and (2.5) that

$$\lim_{n \to \infty} \|x_{n+1} - T(PT)^{n-1}x_n\| = 0.$$
(2.6)

From (2.2), (2.6) and

$$\begin{aligned} &\|x_{n+1} - S(PS)^{n-1}x_n\| \\ &\leq \|x_{n+1} - T(PT)^{n-1}x_n\| + \left\|S(PS)^{n-1}x_n - T(PT)^{n-1}x_n\right\|, \end{aligned}$$

we have

$$\lim_{n \to \infty} \|x_{n+1} - S(PS)^{n-1}x_n\| = 0.$$
(2.7)

Next, by making use of the fact that every asymptotically nonexpansive mapping is  $k\mbox{-Lipschitzian},$  we have

$$\begin{aligned} \|x_{n+1} - Sx_{n+1}\| \\ &\leq \|x_{n+1} - S(PS)^n x_{n+1}\| + \|S(PS)^n x_{n+1} - S(PS)^n x_n\| \\ &+ \|S(PS)^n x_n - Sx_{n+1}\| \\ &\leq \|x_{n+1} - S(PS)^n x_{n+1}\| + \|S(PS)^n x_{n+1} - S(PS)^n x_n\| \\ &+ \|S(PS)^{1-1} (PS)^n x_n - S(PS)^{1-1} x_{n+1}\| \\ &\leq \|x_{n+1} - S(PS)^n x_{n+1}\| + \|S(PS)^n x_{n+1} - S(PS)^n x_n\| \\ &+ k\| (PS)^n x_n - x_{n+1}\| \\ &= \|x_{n+1} - S(PS)^n x_{n+1}\| + \|S(PS)^n x_{n+1} - S(PS)^n x_n\| \\ &+ k\| PS(PS)^{n-1} x_n - Px_{n+1}\| \\ &\leq \|x_{n+1} - S(PS)^n x_{n+1}\| + k_{n+1}\| x_{n+1} - x_n\| \\ &+ k\| S(PS)^{n-1} x_n - x_{n+1}\| \end{aligned}$$

and so

$$\lim_{n \to \infty} \|x_n - Sx_n\| = 0. \tag{2.8}$$

Moreover,

$$\begin{split} \|Sx_{n+1} - Tx_{n+1}\| \\ &\leq \|Sx_{n+1} - S(PS)^n x_{n+1}\| + \|S(PS)^n x_{n+1} - T(PT)^n x_{n+1}\| \\ &+ \|T(PT)^n x_{n+1} - T(PT)^n x_n\| + \|T(PT)^n x_n - Tx_{n+1}\| \\ &\leq k \|x_{n+1} - S(PS)^{n-1} x_{n+1}\| + \|S(PS)^n x_{n+1} - T(PT)^n x_{n+1}\| \\ &+ k_{n+1} \|x_{n+1} - x_n\| + k \|T(PT)^{n-1} x_n - x_{n+1}\| \\ &\leq k \left( \|x_{n+1} - S(PS)^{n-1} x_n\| + \|S(PS)^{n-1} x_n - S(PS)^{n-1} x_{n+1}\| \right) \\ &+ \|S(PS)^n x_{n+1} - T(PT)^n x_{n+1}\| + k_{n+1} \|x_{n+1} - x_n\| \\ &+ k \|T(PT)^{n-1} x_n - x_{n+1}\| \\ &\leq k \left( \|x_{n+1} - S(PS)^{n-1} x_n\| + k_n \|x_n - x_{n+1}\| \right) \\ &+ \|S(PS)^n x_{n+1} - T(PT)^n x_{n+1}\| + k_{n+1} \|x_{n+1} - x_n\| \\ &+ k \|T(PT)^{n-1} x_n - x_{n+1}\| \\ &+ k \|T(PT)^{n-1} x_n - x_{n+1}\| \end{split}$$

gives by (2.2), (2.5), (2.6) and (2.7) that

$$\lim_{n \to \infty} \|Sx_n - Tx_n\| = 0.$$
 (2.9)

In turn, by (2.8) and (2.9), we get

$$\lim_{n \to \infty} \|x_n - Tx_n\| = 0.$$

This completes the proof of the lemma.

**Lemma 2.3.** Let E be a uniformly convex Banach space and C its nonempty closed convex subset. Let  $S, T : C \to E$  be nonself asymptotically nonexpansive mappings satisfying  $\sum_{n=1}^{\infty} (k_n - 1) < \infty$  and  $\{x_n\}$  as defined in (1.2). Then, for any  $p_1, p_2 \in F$ ,  $\lim_{n\to\infty} ||tx_n + (1-t)p_1 - p_2||$  exists for all  $t \in [0, 1]$ .

*Proof.* By Lemma 2.1,  $\lim_{n\to\infty} ||x_n - p||$  exists for all  $p \in F$  and so  $\{x_n\}$  is bounded. Thus there exists a real number r > 0 such that  $\{x_n\} \subseteq D \equiv \overline{B_r(0)} \cap C$ , so that D is a closed convex bounded nonempty subset of C. Put  $u_n(t) = ||tx_n + (1-t)p_1 - p_2||$ . Notice that  $\lim_{n\to\infty} u_n(0) = ||p_1 - p_2||$  and  $\lim_{n\to\infty} u_n(1) = ||x_n - p_2||$  exist as proved in Lemma 2.1. Define  $W_n : D \to D$ by:

$$W_n x = P(a_n S(PS)^{n-1} x + (1 - a_n)T(PT)^{n-1} x).$$

It is easy to verify that  $W_n x_n = x_{n+1}$ ,  $W_n p = p$  for all  $p \in F$  and

 $||W_n x - W_n y|| \le k_n ||x - y|| \quad \text{for all } x, y \in C, n \in \mathbb{N}.$ 

Set

$$R_{n,m} = W_{n+m-1}W_{n+m-2}\cdots W_{n}, \quad m \in \mathbb{N}$$

and

$$v_{n,m} = \|R_{n,m}(tx_n + (1-t)p_1) - (tR_{n,m}x_n + (1-t)p_1)\|.$$

Then  $||R_{n,m}x - R_{n,m}y|| \leq \prod_{j=n}^{n+m-1} k_j ||x - y||$ ,  $R_{n,m}x_n = x_{n+m}$  and  $R_{n,m}p = p$  for all  $p \in F$ . Applying Lemma 1.4 with  $x = x_n$ ,  $y = p_1, U = R_{n,m}$  and using the facts that  $\sum_{k=1}^{\infty} (k_n - 1) < \infty$  and  $\lim_{n \to \infty} ||x_n - p||$  exists for all  $p \in F$ , we obtain  $v_{n,m} \to 0$  as  $n \to \infty$  and for all  $m \geq 1$ .

Finally, from the inequality

$$u_{n+m}(t) = \|tx_{n+m} + (1-t)p_1 - p_2\|$$
  
=  $\|tR_{n,m}x_n + (1-t)p_1 - p_2\|$   
 $\leq v_{n,m} + \|R_{n,m}(tx_n + (1-t)p_1) - p_2\|$   
 $\leq v_{n,m} + \prod_{j=n}^{n+m-1} k_j \|tx_n + (1-t)p_1 - p_2\|$   
=  $v_{n,m} + \prod_{j=n}^{n+m-1} k_j u_n(t),$ 

it follows that

$$\limsup_{n \to \infty} u_n(t) \le \liminf_{n \to \infty} u_n(t).$$

Hence  $\lim_{n\to\infty} ||tx_n + (1-t)p_1 - p_2||$  exists for all  $t \in [0,1]$ .

## 3 Common Fixed Point Approximations

#### 3.1 Weak Convergence Results

Here we will approximate common fixed points of the mappings S and T through the weak convergence of the sequence  $\{x_n\}$  defined in (1.2). Our first result in this direction uses the Opial's condition and the second one the Kadec Klee property.

**Theorem 3.1.** Let E be a uniformly convex Banach space satisfying the Opial's condition and C, S, T and  $\{x_n\}$  be as taken in Lemma 2.2. If  $F \neq \emptyset$ , then  $\{x_n\}$  converges weakly to a common fixed point of S and T.

*Proof.* Let  $x^* \in F$ . Then as proved in Lemma 2.1,  $\lim_{n\to\infty} ||x_n - x^*||$  exists. Now we prove that  $\{x_n\}$  has a unique weak subsequential limit in F. To prove this, let  $z_1$  and  $z_2$  be weak limits of the subsequences  $\{x_{n_i}\}$  and  $\{x_{n_j}\}$  of  $\{x_n\}$ , respectively. By Lemma 2.2,  $\lim_{n\to\infty} ||x_n - Sx_n|| = 0$  and I - S is demiclosed with respect to zero by Lemma 1.3, therefore we obtain  $Sz_1 = z_1$ . Similarly,  $Tz_1 = z_1$ . Again in the same way, we can prove that  $z_2 \in F$ . Next, we prove the uniqueness. For this suppose that  $z_1 \neq z_2$ , then by the Opial's condition

$$\lim_{n \to \infty} \|x_n - z_1\| = \lim_{n_i \to \infty} \|x_{n_i} - z_1\| < \lim_{n_i \to \infty} \|x_{n_i} - z_2\|$$
$$= \lim_{n \to \infty} \|x_n - z_2\| = \lim_{n_j \to \infty} \|x_{n_j} - z_2\|$$
$$< \lim_{n_j \to \infty} \|x_{n_j} - z_1\| = \lim_{n \to \infty} \|x_n - z_1\|.$$

This is a contradiction. Hence  $\{x_n\}$  converges weakly to a point in F.  $\Box$ 

**Theorem 3.2.** Let E be a uniformly convex Banach space such that its dual  $E^*$  satisfies the Kadec Klee property. Let C, S, T and  $\{x_n\}$  be as taken in Lemma 2.2. If  $F \neq \emptyset$ , then  $\{x_n\}$  converges weakly to a common fixed point of S and T.

*Proof.* By the boundedness of  $\{x_n\}$  and reflexivity of E, we have a subsequence  $\{x_{n_i}\}$  of  $\{x_n\}$  that converges weakly to some p in C. By Lemma 2.2, we have  $\lim_{i\to\infty} ||x_{n_i} - Sx_{n_i}|| = 0 = \lim_{i\to\infty} ||x_{n_i} - Tx_{n_i}||$ . This gives  $p \in F$ . To prove that  $\{x_n\}$  converges weakly to p, suppose that  $\{x_{n_k}\}$  is another subsequence of  $\{x_n\}$  that converges weakly to some q in C. Then by Lemmas 2.2 and 1.3,  $p, q \in W \cap F$  where  $W = \omega_w(\{x_n\})$ . Since  $\lim_{n\to\infty} ||x_n + (1-t)p - q||$  exists for all  $t \in [0, 1]$  by Lemma 2.3, therefore p = q by Lemma 1.5. Consequently,  $\{x_n\}$  converges weakly to  $p \in F$  and this completes the proof.

By putting T = I, the identity mapping, in the above two theorems, we have the following corollaries.

**Corollary 3.3.** Let E be a uniformly convex Banach space satisfying the Opial's condition and C, S be as taken in Lemma 2.1 and  $\{x_n\}$  be defined as

$$\begin{cases} x_1 = x \in C, \\ x_{n+1} = P\left(a_n S(PS)^{n-1} x_n + (1-a_n) x_n\right), & n \in \mathbb{N}. \end{cases}$$
(3.1)

If  $F(S) \neq \emptyset$ , then  $\{x_n\}$  converges weakly to a fixed point of S.

**Corollary 3.4.** Let E be a uniformly convex Banach space such that its dual  $E^*$  satisfies the Kadec Klee property. Let C, S be as taken in Lemma 2.1 and  $\{x_n\}$  as in (3.1). If  $F(S) \neq \emptyset$ , then  $\{x_n\}$  converges weakly to a fixed point of S.

#### 3.2 Strong Convergence Results

Recall that for a nonempty set F,  $d(x, F) = \inf\{||x - x^*|| : x^* \in F\}$ . We first prove a strong convergence theorem in general real Banach spaces as follows.

**Theorem 3.5.** Let E be a real Banach space and C,  $\{x_n\}$ , S, T be as taken in Lemma 2.1. If  $F \neq \emptyset$ , then  $\{x_n\}$  converges strongly to a common fixed point of S and T if and only if  $\liminf_{n\to\infty} d(x_n, F) = 0$ .

*Proof.* Necessity is obvious. Conversely, suppose that  $\liminf_{n\to\infty} d(x_n, F) = 0$ . As proved in Lemma 2.1, we have

$$||x_{n+1} - p|| \le k_n ||x_n - p||$$

for all  $p \in F$ . This gives

$$d(x_{n+1}, F) \le k_n d(x_n, F)$$

so that  $\lim_{n\to\infty} d(x_n, F)$  exists. But by hypothesis  $\liminf_{n\to\infty} d(x_n, F) = 0$ , therefore we must have  $\lim_{n\to\infty} d(x_n, F) = 0$ .

Next we show that  $\{x_n\}$  is a Cauchy sequence in C. Let  $\epsilon > 0$  be given. Since  $\lim_{n\to\infty} d(x_n, F) = 0$ , therefore there exists a constant  $n_0$  such that for all  $n \ge n_0$ , we have

$$d(x_n, F) < \frac{\epsilon}{4}$$

In particular,  $\inf\{||x_{n_0} - p|| : p \in F\} < \frac{\epsilon}{4}$ . There must exist  $p^* \in F$  such that

$$\|x_{n_0} - p^*\| < \frac{\epsilon}{2}$$

Now for  $m, n \ge n_0$ , we have

$$||x_{n+m} - x_n|| \le ||x_{n+m} - p^*|| + ||x_n - p^*||$$
  
$$\le 2 ||x_{n_0} - p^*||$$
  
$$< 2 \left(\frac{\epsilon}{2}\right) = \epsilon.$$

Hence  $\{x_n\}$  is a Cauchy sequence in a closed subset C of a Banach space E, therefore it must converge in C. Let  $\lim_{n\to\infty} x_n = q$ . Now  $\lim_{n\to\infty} d(x_n, F) = 0$  gives that d(q, F) = 0. Hence  $q \in F$ .

On lines similar to Fukhar-ud-din and Khan [4], we say that the two mappings  $S, T : C \to E$  where C a subset of E, are said to satisfy Condition  $(\tilde{A})$  if there exists a nondecreasing function  $f : [0, \infty) \to [0, \infty)$  with f(0) = 0, f(r) > 0 for all  $r \in (0, \infty)$  such that either  $||x - Tx|| \ge f(d(x, F))$  or  $||x - Sx|| \ge f(d(x, F))$  for all  $x \in C$ .

Our next theorem is an application of the above theorem and makes use of the Condition  $(\tilde{A})$ .

**Theorem 3.6.** Let E be a uniformly convex Banach space and C,  $\{x_n\}$  be as taken in Lemma 2.2. Let  $S, T : C \to E$  be two nonself asymptotically nonexpansive mappings satisfying condition  $(\tilde{A})$ . If  $F \neq \emptyset$ , then  $\{x_n\}$  converges strongly to a common fixed point of S and T.

*Proof.* By Lemma 2.1,  $\lim_{n\to\infty} ||x_n - x^*||$  exists for all  $x^* \in F$ . Let it be c for some  $c \ge 0$ . If c = 0, there is nothing to prove. Suppose c > 0. Now  $||x_{n+1} - x^*|| \le k_n ||x_n - x^*||$  gives that  $d(x_{n+1}, F) \le k_n d(x_n, F)$  and so  $\lim_{n\to\infty} d(x_n, F)$  exists by Lemma 1.1. By using condition  $(\tilde{A})$ , either

$$\lim_{n \to \infty} f(d(x_n, F)) \le \lim_{n \to \infty} \|x_n - Tx_n\| = 0$$

or

$$\lim_{n \to \infty} f(d(x_n, F)) \le \lim_{n \to \infty} ||x_n - Sx_n|| = 0.$$

In both the cases,

$$\lim_{n \to \infty} f(d(x_n, F)) = 0.$$

Since f is a nondecreasing function and f(0) = 0, therefore  $\lim_{n\to\infty} d(x_n, F) = 0$ . Now applying above theorem, we get the result.

### References

- M. Abbas, S. H. Khan and J. K. Kim, A new simpler one-step iterative process for common fixed points, J. Inequal. Appl. 2008 (2008), Article ID 548627, 10 pages.
- [2] C. Chidume, E. U. Ofoedu and H. Zegeye, Strong and weak convergence theorems for asymptotically nonexpansive mappings, J. Math. Anal. Appl. 280 (2003), 364–374.
- [3] J. G. Falset, W. Kaczor, T. Kuzumow and S. Reich, Weak convergence theorems for asymptotically nonexpansive mappings and semigroups, Nonlinear Anal. 43 (2001), 377–401.
- [4] H. Fukhar-ud-din and S. H. Khan, Convergence of iterates with errors of asymptotically quasi-nonexpansive mappings and applications, J. Math. Anal. Appl. 328 (2007), 821–829.
- [5] S. H. Khan and W. Takahashi, Approximating common fixed points of two asymptotically nonexpansive mappings, Sci. Math. Jpn. 53(1) (2001), 143–148.
- [6] Z. Opial, Weak convergence of the sequence of successive approximations for nonexpansive mappings, Bull. Amer. Math. Soc. 73 (1967), 591–597.

- [7] M. O. Osilike and S. C. Aniagbosor, Weak and strong convergence theorems for fixed points of asymptotically nonexpansive mappings, Math. Comput. Modelling 32 (2000), 1181-1191.
- [8] S. Plubtieng and K. Ungchittrakool, Strong convergence of modified Ishikawa iteration for two asymptotically nonexpansive mappings and semi groups, Nonlinear Anal. 67(7) (2007), 2306-2315.
- [9] J. Schu, Weak and strong convergence to fixed points of asymptotically nonexpansive mappings, Bull. Austral. Math. Soc. 43 (1991), 153–159.
- [10] W. Takahashi, Iterative methods for approximation of fixed points and thier applications, J. Oper. Res. Soc. Jpn. 43(1) (2000), 87–108.
- [11] B. Xu and M. A. Noor, Fixed point iterations for asymptotically nonexpansive mappings in Banach spaces, J. Math. Anal. Appl. 267 (2002), 444–453.

Lahore University of Management Sciences, Department of Mathematics, 54792-Lahore, Pakistan e-mail: mujahid@lums.edu.pk

Qatar University, Department of Mathematics and Physics, Doha 2713, Qatar e-mail: safeer@qu.edu.qa; safeerhussain5@yahoo.com

Gyeongsang National University, Department of Mathematics and RINS, Jinju 660-701, Korea e-mail: smkang@gnu.ac.kr